(5 44

o 4E 97 2TH (K)

23 )

1RH ~ 6IERH

8§40 ~ 15:25

* F—ANR—VENGRITE, ARIORED
HODPHILNEINTL TN,

<7y h>
1R H GEESE:W)
8:40 ~ 9:30 HRMRE E=)dRE
ENENL
A &tk A% OBR) A2 B PN 2%
* 8:30FTIZ B &ttt &t % (kR 5
EFEEEAN C &tk &St N%E O/R) K I 3%
D &tk StHENE AR (FR)
E &tk  2t#n%E B RERR (BF)
F &tk 2StEfAE e 5277 &)
G 2tk St E (kR) 7 > %
G 2tk 2t NE (bR KR35 1.2¢
H &tk S#fing (BR) Stk
PRER 9:30~9:40 * K, BEsRIad
2R H F#=H —XKH
9:40 ~ 10:30
O/N—7 = A &®/NV—7 = E
@/Nn—7 = B ®/N—7 = F
/N—7 = C @QIN—7 = G
@ZN—7 = D ®/N—7 = H
AR 10:30~10:45 * KRR, BEIE R A&
SRR H =¥ XH
10:45 ~ 11:35
QZ/N—7 = B &/N—7 = F
QrN—7 = C ®/N—7 = G
@Z/N—7 = D @rN—7 = H
@DFN—F = A ®/N—7 = E
R 11:35~11:45 * KR, BER &
ARFRRH FE=F =XKH
11:45 ~ 12:35
OZ/N—7 = C G&I/NV—7 = G
@QZ/N—7 = D ®’/NV—7 = H
/N—7 = A @N—7 = E
@7/N—7 = B ®/N—7 = F
. BIRA
12335 ~ 13:30 * KE BRI AT
SRR H =¥ UKH
13:35 ~ 14:25
OQZn—7 = D &Z/nN—7 = H
Q/N—7 = A ®/N—7 = E
@/N—7 = B @QZ/N—F = F
@rN—7 = C /N—7 = G
PRER 14:25~14:35 * K, BEgRad
6IRFRR H [PAREK]
14:35 ~ 15:25 EHEBRE
5333 T r—hEA
=
OZ/N—7 (174%) A = B = C =D O/N—7 (17%) E = F = G
@Q/N—7 (17%) B = C =D = A ©/n—7 (1% F = G = H
@/ N—7 (1740 C=>D=A =B @IN—7 (1740) G = H=E
@7 N—7 (174) D=>A=>B=2¢(¢ @7/ N—7 (174) H=E=TF

Jagd
Q=




